FNSFE HEHBEER (REHEHRIEED)

HEEK A%
1 |40 520 715
2 |Z=FH 56 67
3 |&=H 75 93
4 |EE™H 43 80
5 |tk 41 47
6 |AlFTh 37 42
7 |BEM 45 58
8 |tiEEk 53 66
9 |mB+h 33 44
10 |&mmh 32 45
11 |&EH 37 62
12 |BE5¢H] 26 41
13 | ZSepA)ET 7 10
14 |FEFE 20 29
15 |ZZFRE 11 11
16 |Ab)IIAt 6 9
17 |FEisAt 5 5
18 | = 9 14

EE | A%

19 [ARLLH] 25 26
20 | KRE=H] 10 15
21 |AkEHT 22 32
22 |XJIIA 6 6
23 |L\DH] 17 24
24 |{ZE)ET 18 26
25 |[Hh{EHT 15 20
26 |{&)IIE] 10 11
27 |BEANET 23 35
28 |H5[RHE] 8 15
29 (BB 7 14
30 [JRETH] 14 18
31 |mA+H] 80 99
32 | KAH] 28 38
33 |=[EA 7 9
34 |EEHE] 36 47

A~BH 55 57

#as 1,437 1,930




